
MAE384 HW1 

Comments:

Prob.1 
We will discuss this problem in class.

Prob. 2
Many of you attempted to divide 256.1875 by 265 before proceeding to the standard binary 
decomposition.  In this case, the correct procedure is

      Step 1:   256.1875 = 256.1875
256

× 256 = 1.000732421875 × 28  .

      Step 2:      1.000732421875 = 21 + 2−11 + 2 −12 ;    8 = 23

                       =>  1.000732421875 = 1.000000000011 × 21000

In step 1, all digits in "1.000732421875" must be retained. Rounding the number shall lead to an 
incorrect answer.  (Some of you obtained "1.000732422", which I realized was due to insufficient 
precision of your calculators.)   For this problem,  it is easier to first decompose 256.1875 into 256 + 
0.125+ 0.0625 = 28+2−3+2−4 = 100000000.0011 in binary form.  Then, advancing the floating point by 8 
places to the left, one immediately obtains the desirable final answer.  See attached sample solution for 
yet another alternative.

Prob 3 and 4 are straightforward.

Sample solutions to Prob 2, 3, and 4 are attached.  



Sample solution, Prob. 2  (Thanks to Anton Pestka)



Sample solution, Prob 3 (Thanks to Aishwarya Stanley)



Sample solution, Prob 4 (Thanks to Jennifer Gamboa)
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Prob 4, continued


